FHE RBEE (M aALT— A ] | . £ R 8|

TR ELRARSE SR LITu Gy,

BB LSS 15 REGE 1~14 BES BRI - 25 15 ATSIRICRE) » 1R 4 53 0 AEF 60 3

L 1552 AT NT:US(E % £IEMERES 30:1 7 Ay CPIGRERE Y EIRE B2 CPL.Z 50%-
B — I Re(risk-free rate)=2% KB R=5% » A5 Purchasing Power Parity 17 » —4F
®’NT:US ZMERERG A 1 (D2WDTF (2) 20.01~30  (3)30.01~40 (4)40.0] LL

2. JERE R 0 A9R Tnierest Rate Parity Ji% 17 » —%# NT:US CRERIEEST 11 ()20 8L
™ (@2001~30.1 ()30.01~40 (440,01 2L |

3. BATUERLBLFHEITHAC | TSI (B4 © (ANt Present Value 3 (BY&#%01: (C)CAPM i
(DIAPT & (B)ARBBTHILE © (DA () BE (3ABE (4) ACE (5) BCDE

4 AIRBAUTHIBA LK Stock (Bi#i= 2) + (PSSR M4 LKK » BiEaehes il F
-~ R IRSRESE B A 2 (DI LKK AR A P I3 )8 LKK 4
PGRBREEHY 0.95 T BLBfIE= 1 & HETE(3) Bliti=2 - 1 FLEE LKK Al E 2 b ) pi= 2 1 .
SELKK CARBMRICE L 0.92 2 g

5 ATREE - IR TERZE LXK Stock100 7% » VMR 2 — R TG (1) 50
(2) 100 (3) 200 (4) 95 (5) 92 (B)LL 453k
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11. I the market is efficient, the correlation coefficient between stock index return over the
year 2005 and stock index return over the year 2006 should be : (1)positive (2)0 (3)1
(4) negative (5)-1 (6)0.5
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13. Company X announces to buy Y. Before merger announcement, A’s stock price= $20 per share. B’s
share price= $10. Number of shares: A = 10 shares, B= 10 shares. Present value of synergy= $100.
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WidgetWorld Co.
Balance Sheet for Dec. 31, 2001
Cash $50 Accounts payable %100
Inventory $150 TWNotes payable 100
Fixed assets $600 if.ong-term debt 350
Equity 250
Total assets 3800  Total liabilities & equity F800

Income statement for 2001

Sales 800
Closts _600
EBRT $200
Taxes (34246) 68
Net income $132

Ql.

Q2.

Q3.

Q4.

Suppose that current assets, costs, and accounts payable maintain a constant ratio to
sales. The firm retains 40% of earnings. If the firm is producing at only 90%
capacity, what is the total external financing needed if sales increase 25%2

Suppose the firm retains 28% of earnings, while assets and costs maintain a constant
percentage of sales. If the firm is producing at full capacity, what is the internal
growth rate?

Suppose that assets and costs maintain a constant ratio to sales. The firm retains 30%
of earnings. If the firm is producing at full capacity, what is the maximum growth
rate, assuming no equity sales, that will maintain a constant debt-equity ratio?
Suppose the firm wishes to maintain a constant debt-equity ratio, retains 60% of net
income, and raises no new equity. Assets and costs maintain a constant ratio to sales,
What is the maximum increase in sales the firm can achieve?

Q5. 1043

You will bid to supply 3 machines per year for each of the next three years to the
China Steel Company. To get set up, you will need $10 million in equipment, to be
depreciated straight-line to zero over three years, with no salvage value. Total fixed
costs per year are $5 million, and variable costs are $7 million per jet. Assuming a tax
rate of 30% and a required return of 10%, what is the minimum price at which you
should offer to supply the jets?

Q6. 1043

The current market value of the assets of Jack's, Inc. is $62 million. The firm has zero
coupon bonds outstanding with a total face value of $36 million. The bonds mature
five years from now. Assume the value of firm’s value will follow normal
distribution with N(d1) equal to 0.86 and N(d2) equal to 0.77. The risk-free rate is 6
percent compounded continuously. What is the market value of the firm's equity?
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1. A bag contains 3 white and 4 green balls. What is the probability that if 2 balls are drawn
at random without replacement, both the balls are white ? (A)1/4 (B)1/5 (C)1/6 (D)1/7.

7 For a continuous random variable X, the probability of any single value of X is : (A)one
(B)zero (C)determined by the cumulative function (D)determined by the probability density
function. -

3. The joint probability distribution function of two random variables X and Y is as
flx,y)=x+3y,05x<3 and O0<ys 3. Then, the random variables in this question
are : {A)independent (B)dependent (C)neither independent nor dependent (D)cannot answer
based on the information provided.

4. A distribution of returns that has a greater percentage of small deviations from the mean and
a greater percentage of extremely large deviations from the mean : (A)is positively skewed
(B)is a symr_netric diStribution (C)has positive excess kurtosis (D)has ncgative excess
kuriosis. :

5. Wthh of the followmg is most accurate regardmg a dlstnhutlon of retums that has a mean

= ; greaier than 1ts mcdlan'? (A is p051t1vely skewed (B)It is a symmetnc dlstributlon (C)It
has posmve £XCEsS kurtosxs (D)1t has negatlve exXcess skewness _

6. Which of the fol!owmg statements about skewness and kurtosis is I‘ALSF ‘? (A)Kurtosm 1§
measured using deviations raised to the fourth power (B)Posmve values of kurtosis indicate - |
a distribution that has fat tails, referred to as platykurtic (C)Values of relative skewness in
excess of 0.5 in absolute value indicate 1argc levels of skewness (D)Relative skeWness is
equal to the absolute skewness dw1ded by the cubed standard dev1at10n :

7. What is the dppropuate test statistic for consmlctmg conﬁdence intervals for the populatlon
mean of a normal dlstributlon when the populatlon variance is unknown 7 (A)The 7Z-statistic
at o w1th n degrees of freedom (B)The Z-statistic with n-1 degrees of freedom (C)The

t-statistic at af/2 with n degrees of freedom (D)The t-statistic at % with n-1 degrees of

freedom.

8. What is the appropriate test statistic for constructing confidence intervals for the population
mean of a abnormal distribution when the population variance is unknown and the sample
size is.large 7 (A)The Z-statistic or the t-statistic (B)The Z-statistic at o with n degrees of

freedom (C)The t-statistic at o with 29 degrees of freedom (D)The t-statistic at % with n

degrees of freedom.

9. In a sample of 100 students, 60 indicated that they were opposed to a tuition increase to
fund a new athletic facility. Which of the following is closest to the 90 percent confidence
interval for the population proportion of all students opposed to the tuition hike? (A)0.52 to
0.60 (B)0.50 to 0.70 (C)0.52 to 0.68 (D)0.55 to 0.67
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10. The mean lifetime mileage and variance of 50 Brand X tires wag 40,000 and 5,000,
respectively.  The mean lifetime nuleage and variance of 75 Brand Y tires was 48,000 and
6,500, respectively.  Which of the following is closest to the 95 percent confidence interyal
for the difference in the mean lifetime mileage of Brand Y and Brand X tires ? (A)7,973 to
8,027 miles (B)7,967 to 8,023 miles (C)7,634 to 8,366 miles (D)7,413 to 8,587 miles,

I'l. Which of the following statements about hypothesis testing is TRUE ? (A)A Type I error
is rejecting the null when it is actually true (B)If the p-value is greater than the significance
level, fail to reject H, (C)The significance tevel equals one minus the probability of a Type [
error (D)If the alternative hypothesis H,: p > Mo, then the test is a two-tailed test.

12. Which of the following statements is FALSE ? (A)A Type I error is rejecting the null when
it is actually true (B)Failing to reject the null when it is false is an example of a Type 11
error (C)The probability of committing a Type I error is the significance level of the test
(D)If a person is presumed innocent unless proven otherwise, finding a guilty person
innocent is an example of a Type 11 error.

I3. In a hypothesis test, the null hypothesis is that the population mean is equal to 90 versus the
alternative hypothesis the population mean is not equal to 90. A _Sam’ple_of 100 elements
selected from this bopulation produced a me'a__x_l of 84 and a standard. dev'i_atiibn of 10. If

hypothesis testing is.'c(_)nducted:- at the 5 pe‘rc_cn'_t_ 8 gr;'i_ﬁpaﬁcé' léﬁel_,' the : C_'O_RRECT' decision

is to :'(A).:r:eject_':thc_nuIi'hypotHes'fé (B)fail to reject the nullrhypothes;isf' (C)accept the
alternative 'hypothes'is' (D)t is irrﬁpossible to reach a decision becausé of the large value for
the computed Z. (*| t(0.025,99)|= 1.984) IR TP B

14. A study was conducted to determine whether the standard deviation of monthly
mainienance costs of a Pepper T1I aircrafi is $300. A sample of 30 Pepper Ills had a
monthly maintenance costs of $3,025 and a standard deviation of $325.. Using a 5 percent
level of signiﬁucance, which of the following is the most appropriate conclusion regarding
the difference between the hypothesized value of the population variance and the sample
variance ? (A)The difference is not meaningful (B)The populatioﬁ and samljie vatiances are
significantly different (C)The population and sample variances are not significantly
different (D)There are no tests that may be used to test variance differences of small
samples. (*The critical chi-square values are 16.047 on the left and 45.722 on the right.)

15. What is the computed value of the test statistic that follows an F-distribution when sample
variances are equal and the level of si gnificance is 0,10 ? (A)0.10 (B)0.90 (C)l 00 (D)0.05

16. Which of the following is not a common characteristic between the F-distribution and
chi-square distribution ? They : (A)are both asymmetrical (B)are both bo_und_by Zero on
the left (C)are both defined by degrees of freedom (D)both have means that are less than
their standard deviations. ;

17. Three events, X, Y, and Z are considered independent if they are pairwise independent.
That is : (A)P(X and Y)=P(X)P(Y) (B)P(Y and Z)=P(Y)P(Z) (C)P(X and Z)=P(X)P(Z)
(D)P(X and Y and Zy=P(X)P(Y)P(Z).
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What are the basic assumption behind regression models?
(A). Stochastic regressors.

(B). The independent variables have to be independent
(C). Error terms are uncorrelated.

(D). Error terms all have constant variances.

What are the ways to overcome the autocorrelation problem in regression analysis?
(A). Addition of independent variables

(B). Omission of independent variables

(C). Transforming variables

(D). Use of Autoregression

There are some assumption for the F test in ANOVA to be valid and those assumption are
(A). Normality

(B). Large sample sizes

(C). Equal variances

(D). Independence

A manufacturer has purchased a lot of 1700 ring seals from a producer. The manufacturer ’s inspectors are

using a single-sample acceptance sampling plan to decide whether or not to accept the lot. The sample

size is 10, and if the inspectors find any seals out of conformance in the sample, the lot will be rejected.

(A). Suppose the lot has 5% nonconforming seals and that this is acceptable to the manufacturer. The
producer’s risk is 32%.

(B). Suppose the lot has 5% nonconforming seals and that this is acceptable to the manufacturer. The
producer’s risk is 40%.

(C). Suppose the lot contain 14% nonconforming seals and that this is unacceptable to the manufacturer.
The consumer’s risk is 22%.

(D). Suppose the lot contain 14% nonconforming seals and that this is unacceptable to the manufacturer.
The consumer’s risk is 28%.

In a simple linear regression analysis, which of the following are true
(A).The F test and t test may or may not yield the same results.

(B). The relationship between X and Y is represented a straight line
(C). The value of F=t>

(D). Sum of the residuals always is zero

o




6.  Which of the following statements for multicollinearity in regression analysis are correct?
(A). It is difficult to interpret the estimates of the regression coefficients.
(B). Inordinately small ¢ value for the regression coefficient may result
(C). The standard deviation of regression coefficients are underestimated
(D). The algebraic sign of estimated regression coefficients may be the opposite of what would be

expected for a particular predictor variable.

7. Which of the following statements for Paasche Price Index are correct?
(A). Paasche Price Index is weighted aggregate price index computed by using the quantities of the based
years for all other years
(B). The advantage of this index is that it incorporates current quantities figures in the calculations.
(C). The disadvantage is that ascertaining quantity figures for each time period is expensive.

(D). All of above are correct.

8. Which of the following statements for heteroscedasticity in regression model are correct?
{A). Heteroscedasticity can arise as a result of the presence of outlier.
(B). Heteroscedasticity destroy the unbiasedness and consistency properties of OLS estimators
(C). OLS estimators are no longer minimum variance or efficient.

(D). All of above are correct.

9. Which of the following statements for autocorrelation in regression model are correct?
(A). Autocorrelation can arise because of inertia or stuggishness in economic time-series.
(B). Autocorrelation could be resulted from using the incorrect functional form.
(C). OLS estimators remain unbiased as well as consistent.

(D). OLS estimators remain efficient

10. Which of the following statements for nonparametric statistics are correct?
{A). Nonparametric statistics are based in fewer assumptions about the population than parametric
statistics.
(B). The computations on nonparametric statistics are usually less complicated than those for parametric
statistics, particular for large samples.
(C). Probability statements obtained from most nonparametric tests are exact probabilities
(D). Nonparametric testes can be wasteful of data if parametric tests are available for use with the data.

I S35 104 58249

1.  Which of the following tests is used to determine whether an additional variable makes a significant
contribution to a multiple regression model?
(A). ttest.
(B). Z test
(C). F test
(D). Chi-square test
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2. When a qualitative variable is entered into a model by using dummy variables,
(A). The number of dummy variables entered for the qualitative variables equals the number of levels of
the qualitative variable.
(B). The number of dummy variables entered for the qualitative variables always one less than the number
of levels of the qualitative variable.
(C). Only one dummy variable needs to be entered into the model.
(D). None of above is correct.

3. A person wishes to compare the means of three populations. The data is ordinal. Which of the following
should be used?
(A). One-way analysis of variance
(B). Kruskal-Wallis
(C). Wilcoxon
(D). Mann-Whitney

4. Most "Before and After" types of experiments should be analyzed using
(A). Chi-square goodness of fit test
(B). Kruskal-Wallis test
(C). Mann-Whitney U test
(D). Wilcoxon test

5. Which of the following is an acceptable method to identify multicollinearity in a regression model?
(A). Examine a residual plot
(B). Examine the ANOVA table
(C). Examine a correlation matrix
(D). Examine the partial regression coefficients

1. RZEE (10 53)

How does the classical methodology choose a regression model in the first place? Please list the criteria and

explain.
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20 BEHFEABARBUN,Y)=XY P~ P2 A m=1200 FRERANXHRSEELR (X
THWE) LRAFRGEGE B |
30 60

(A) X=E (B) X=12P,+10 (C) X=:5;
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(A) 100 (B) 200 (C) 50
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BR) AFLLE?
(A) 130 (B) 140
(C) 150 (D) 160

2 BEBRBL AN BRTHENRME  BRAFDB THAFRBHEA2 R4 EATHLKS 120
AR BHRGHERBAES Y ?
(A) 90 (B) 50 (C) 60
(D) 70 (E) 80

A7 MR @ETHERbIB DP) = 60—~ 2UHZRIR &AM AAEHAC =2,
C,=q, « MREBAGEEHT?

(A) ¢’ =514, =10 (B) g/ =74, =14
(C) ¢, =95 g, =19 (D) ¢ =10 ¢, =20
(E) ¢, =75 ¢, =15

AT AWASHRFRE LR ARHHE AC=Q —16Q+100 » ido sr5RE T BERS E K dh40 5 D(P)
=064—2Q » 3 B s oG AR W 2 A8 By dey 7
(A) 100 (B) 98 {(C) 96
(D) 94 (E) 92

2 BRFIAGEE-RAABREATE £ RFH4 A FAMTRA310,0000 ARAEEH C, »
ERELABRL > LRAETHFS100000 HHEKKEH Cro B ERA2Z KKEP=04> B o
ABRRBERARBARMKABRBUKC,,C)=P-JC +(1-P)-,[C, » BIEREAL B &4 2
FREAET » BEARBARGER  ARRARBOBAT » A ELHORES S D ?
(A) 90,000 (B) 72,000 (C) 36,000
(D) 12,000 (E) 48,000
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30 FERTEZRERGKSH P=200—-Q s A#FAEA (Marginal Private Cost) #h 4 MPC=80
TQENE RN KRMEL T PR A > PSR A A (Marginal External Cost) # 48 % MEC
=Q FMARAHEXEEMRS IR TR TREH L GRRGEE?

(A) 0.001 (B) 0.015 (C) 0.005
(D) 0.01 (E) 0.05

'ﬁf%%%ﬁ%ﬁ%ﬁ%ﬁHmiﬁ@ﬁﬁ’%ﬁiﬁﬁﬂ%C=%fﬂm’ﬁﬁﬁ%iﬁﬂmz%

BA BEAGERSBA " =100-2P » 3T 556039 B4 7

(A) 90 (B) 5000/109 (C) 4/31
(D) 80/17 (E) 48

3L AUBRHBLLT L EEEEGERAMA Q=250—P A A PRGBS T A q=—230+9P »
BEBHEOERRAMC=Qp > HEALEEALYAERBAM?
(A) 250 (B) 206 (C) 44
(D) 40 (E) 285

—.fA%E (45)
(1) Chris Anderson 4& 2006 438 B — #8445 R £ 48 A K EIZ#% (the long tail) > 35305 4 f776 5%

FEBT  RAERFRAER? (FR 100 FRHEHE - 28 100 28 §H04)



